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Question Number : 1 Question Id : 70819120374 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :
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Question Number : 1 Question Id : 70819120374 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819120375 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed “u” has head-on collision
elastically with another body ‘Q)’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166275, Poth A and R are correct and R is the correct explanation of A.

70819166276. Both A and R are correct but R is NOT the correct explanation of A.

70819166277, A is correct but R is not correcl.

70819166278. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120375 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819120376 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocity is inversely proportional to its velocity.

MmO 0w p

to follow a trajectory such that the areal velocity is constant.

Choose the correct answer from the options given below :

Options :
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Question Number : 3 Question Id : 70819120376 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819120377 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \!ﬁ R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
K R
X JBR Y

Options :
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Question Number : 4 Question Id : 70819120377 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 5 Question Id : 70819120378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:
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Question Number : 5 Question Id : 70819120378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819120379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be :

Options :
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Question Number : 6 Question Id : 70819120379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819120380 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
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Question Number : 7 Question Id : 70819120380 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819120381 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)

from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :
Options :
2R
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Question Number : 8 Question Id : 70819120381 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819120382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature § at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :
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Ry :
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R, &
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Options:
.“1[{2 | l]le
70819166303, 1t Ra
04R; + 0,R»
70819166304, N1t R2
Ry — 05R;
70819166305. Ry — R
8,R5 — ;R4
70819166306, 2 R

Question Number : 9 Question Id : 70819120382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819120383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R®. Its time
period of revolution will be given by :

Options :
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Question Number : 10 Question Id : 70819120383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819120384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K I are joined in series, the new spring constant
and time period would be changed by a factor :

Options:
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Question Number : 11 Question Id : 70819120384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819120385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of the rod is a= T L.
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Question Number : 12 Question Id : 70819120385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C ” with C 5> C v when connected in parallel,

the equivalent capacitance is I times the equivalent capacitance of the same connected in

.Cp_
series. Calculate the ratio of capacitors, C_l
Options:

2
70819166319, 13



1
70819166320. 11

15
70819166321, 2
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70819166322, U

Question Number : 13 Question Id : 70819120386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 70819120387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be :

Options :
= |
= (i + 1)
70819166323. V<

a + #2)
70819166324. ﬁ

1
70819166325, V2 '

70819166326. 2

Question Number : 14 Question Id : 70819120387 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819120388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

Options :

70819166327.

m|x~'

70819166328.

70819166329, K

3R
70819166330. 2

Question Number : 15 Question Id : 70819120388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819120389 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
70819166331 Image is virtual, opposite side of concave mirror.

70819166332, Image is real, same side of concave mirror.

70819166333, Image is virtual, opposite side of convex mirror.

:Yes



70819166334. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819120390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819166335, | mm

70819166336, U-72 mm

70819166337, 0.50 mm



70819166338, U-22 mm

Question Number : 17 Question Id : 70819120390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oDON'E QaeshioR TARMTY STUD 0anY IR ©o3T 2 mm I CieinleN vy
LOm Wet3T" BROBYOAT. 500 nm 3TOMOITT B¥E), WoEHoleeNATTE 0 ©0ITHY
Options :
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Question Number : 18 Question Id : 70819120391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  An electron microscope can achieve better resolving power than an optical
MICroscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819166339, Poth A and R are true and R is the correct explanation of A.

70819166340 Both A and R are true but R is NOT the correct explanation of A.



70819166341. A is true but R is false.

70819166342, A is false but R is true.

Question Number : 18 Question Id : 70819120391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% #9120 ﬁe@éﬁ@é;ﬁ:ﬂl VEBRNG. LOTW, FoeXE A DA DILCTH, BT R 20

TAOISRAD.

TFaZB A: 4 x@qﬂazj&?s&ﬁoa fa-ﬁa"gp*“ mggsmg NI mﬂqsa;ar AT F
TERCDWTIT. i

%00 R : YIFRF WOBRINCT BRTARAT YUTFNY & wWwf)¢ 300M0STF) 7ieed
LTI 300mR03T803 B saamm‘ﬁd:gd.

eI DeTINYR, BARODIUIBA0E, T9N RLDD egi;ri@é-g AOOIRE YOIV, BOA.

Options :

70819166339. A E&; R 20&@s %0, m&:‘ AN R DdoimT O=TH.
20819166340, A SR R «08» %0, 8TE A i1 R 00T H&0H0DY,
70819166341, A F° €U0 R =,

70819166342, A ¥, BT R 7.

Question Number : 19 Question Id : 70819120392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Ay and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A P ise

Options :



70819166343, 7 : 108

70819166344, * -

70819166345, 1+ 3

70819166346, 1 - °

Question Number : 19 Question Id : 70819120392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819166343, 7 : 108
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Question Number : 20 Question Id : 70819120393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"*Js and c=3x 108 ms 1|

Options :



70819166347. h54 nm and red colour
70819166348. 6564 nm and orange colour

70819166349 1046 nm and blue colour

70819166350. 1046 nm and red colour

Question Number : 20 Question Id : 70819120393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 70819120394 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction ﬁ The critical force to be applied on the vertical surface as shown

at an angle 60° with horizontal such that it does not move, will be 3x. The value of x will be

) us R s g
[g=10 m/s=; sin 60°= — i €08 60" = E]
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Correct Marks : 4 Wrong Marks : 0



WITY Sec0ATROZ

T !
Todon (ALY *at: ﬁa BT BORG0Z WIHY SRDATNHOZ ©ow m'ﬁmcs:cd i&aaa;
60° EJ“E'.‘aCﬁ:J e.;':»r::., NOFR WOR) 3x 8T0 x T IS0

PRFEIRTMETIDRD L0m §8% WOk Ded,; Hed 3 kg

[6=10 m/s2 ; sin 60°= —; cos 60°=

LI
£
2

I‘l.}|r—i.
et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819120395 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
i i A
200 410
4

A boy pushes a box of mass 2 kg with a force F =

[f the box was initially at rest, then _ m is displacement along the x-axis after
10 s.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819120395 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LOm FaArmTLE Foeg, Hed 2kg Todon TJYNONTY YW L BN
- bt o

— (A AN
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\ /
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819120396 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ 52 will be
N. [g=10 m/s’]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120396 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
wododges IFE Len AT IR Wed 03 wy) BIoD 3wT 60 ky 0IWTTE,
18ms~2 & SeneeEnrag O sYNeT0 & BE0D AT N. [g=10 ms 7]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120397 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—0.21 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 IN.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120397 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LOm ANUAT Zodod FI wgm TdaR 0135 g/em. QWIY LLOWRMG LOW ©F

goonaam, y=—021sin (x+301) RWeFORBY VORI, BY x NTIYT D L
- 4 - ¥ ¥

NHOTRQU. 30doh AT E’Bbfﬁs #8 ax102Nesmd xS ddodd _ (Raneas

mmmﬁ; TRFARTIRI).

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819120398 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Value of xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120398 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LOm FOTRBIV, FTer SRBMHTO0T QTR B3e0WT” YoM, WRTORE BEOWT* MF
45 OewiT® R 2TRTe Gowd M 5.5 DT, 20 ToINReY LIBDY BRTOHE
FPOWT* 3.0 Jee A0 TRODT. B, ATRETE WeowT 3.0 POWNRLIVT WIRIY
40 Hpeer «@0 TeoDE. W_JT‘EEOJ.&& oORNRENYT00T WIpH) IWIecvT
JooshItioende MYl w3@Y xx 107 atm 8T8 x & ddodn

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 26 Question Id : 70819120399 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
fieldat Pis xx10"1V/m. Value of xis . (Rounded-off to the nearest integer)

[Take €,=8.85x10 RCIN"Tm % ¢=3x10°ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120399 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1000W & 2.0 AR QITRND TRTILIOUD M) 9T 2 m BR03 P omdag

AWMFTIT DI) WOIFINYAL, VOITIRED. W, TFIAW 125% ©TT T IQNI 10
AT wdosw xx1071V/m s@S, 17 Sdom

wd

(Deed3 ELQEFOS% TREFNRTYIEIN).

[e,=885x10"2 C2N"1m~2, c=3x10* ms~1 a0m giahdny]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120400 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis ______].

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120400 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ROFTRN 3ekithd RoTY 20 C AMETYH TODBREME0Z Lo 3REITN, AW

a,"*c-f:s;i:ﬁ; AReGRONS, 15V 8 DOITT), 083 BT PO A LINTCNT-
olRaoe Bl SRBO Ry .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120401 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
Dy 1300
> AN
I)Eﬂ 100 £}
N Wy
| 120 €}
L AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120401 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Téodeod FUTEF Ceeg 50 0 DI P ORFTF i@f@“ﬁ-ﬁ:& TROODT TR
BOARETNIINT DOBOT. BREIT APRFY) 6V $T0 120 0 Teegd@ Dewd TON

Dy
130 £)
L‘:'I AN
DI’Z 1000
[:':] AN
| 120 02
I } AN
v

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120402 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120402 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
W0 SMWSFENROR STOND 1 'iu% :LE, Etl}% TONM E&Tﬁ 16V 3,3. 8V 8hd. =
RoTReF 0 SNRIFACON EuOT‘iCﬁ STHFIFACON ARFPW0FR) leU 2 338 x @
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819120403 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change willbe .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120403 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A0 LCR ©mong morud mmedd 903 100 20w SYSTREons. Heosdodd),
QOB T, TRG DR IAGI, OB, FBD IRFRNTIRTT 8 WHRTE F0IT
n,r—a&ﬁ “0JR)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191900
Section Number : 3

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911180
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options :

3p
70819166361.

70819166362, 4d

70819166363, 4!

70819166364, °d

Question Number : 31 Question Id : 70819120404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Se23000 W) BRIQOL QTBR WPT [T WOWRNTR, TeoLTVH ﬁiﬁq’; :
e bt ‘

Options :

3p
70819166361.

70819166362, 4d



70819166363, 4!

70819166364, °>d

Question Number : 32 Question Id : 70819120405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819166365, Both A and R are true and R is the correct explanation of A

70819166366. Both A and R are true but R is NOT the correct explanation of A

70819166367, 15 true but R is false

70819166368, A 15 false but R is true

Question Number : 32 Question Id : 70819120405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



391 Q0@ m’w%ﬂ@ﬁi BT, 20 Teged A ﬁmﬁow T REhd.
TP A ORE-ORE ©o30iobrth ande decldorr-wogngn wogtiodnehta
o0tel0mN F R WP IoWRoINT.

= R: R0 ¥Z08 AR’ e onToE Fo ahd) HF 5od m’d AT WONW
ﬁmeémj:mﬁﬁ

DedT Feodnva, MR, F0CHE WITTH, F9NT SohnvY $oA0.
Options:

= g fo = = \ o e ; ..-
708191663665. ADD Ra0BR 2% B RP AR ZOIRT ITTR NS

= : ) = 3 R T R < .
70819166366, - Eora R enesa i, EE L ap fufl RBCRRD) DaEE O

20819166367, Ao 8O0 R 3@!‘15.

20819166368, 2 TRNT ©TT R BTNT.

Question Number : 33 Question Id : 70819120406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11

Electronic configuration AH in k] mol 1

of elements
(a) 1s22s2 (i) 801
(b) 1s22s?2p? (i) 899
() 1s22s22p3 (iii) 1314
(d) 1s%2s%2p! (iv) 1402
Choose the most appropriate answer from the options given below :
Options :
20819166369, (@ — (), (b) = (v), (0) — (ii), (d) — (ii)

70819166370, (@) = (), (b) — (i), (c) — (i), (d) — (iii)

20819166371, (@ — (i), (b) = (iid), () — (i), (d) — (i)



70819166372, (a) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e — 1 s30T - 11 0, TBRoDA wTW0.

wed-1 @3- 1
(Ge3one 2SR ATT) (AH in k] mol 1)
(a) 1s%2s? (i) 801
(b) 1s22s22pt (i) 899
(0 1s22s?2p? (ii) 1314
(d) 1s22s2 2p! (iv) 1402

39N SoNYY TOCIRE wwITHW, SOAD.

Options :
70819166369. (@) — (1), (b) — (iv), (¢) — (i), (d) — (ii)
20819166370, (@) = (iv), (b) = (i), (c) — (ii), (d) — (iii)

70819166371. (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

20819166372, (@ — (D), (b) = (iid), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1L

List-1 List-11
(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc

Choose the most appropriate answer from the options given below :
Options :
20819166373, (@ — (i), (b) = (i), () — (iv), (d) — (i)

70819166374, (@ — (i), (b) — (i), (c) — (ii), (d) — (iv)

70819166375, (@) — (id), (b) —= (iv), (c) — (i), (d) — (iii)

70819166376. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- 10 Hnd w3~ 11 m% TRODLD.

ed - 1 weg - 11
(2RT0) (TRINsh DWDHI[T)
(a) 3o (i) =
BatieD i3 i) 3ReTRs
(b) el (i) 23 g
(0 woORT (i) PROET
godeed i3 iv o
d) 3 3 2305

39NT oYY TOWRT wITIT, SOAD.
Options :
20819166373, (@) — (ii), (b) = (i), (¢) — (iv), (d) — (iii)

70819166374, (@ — (ii), (b) — (i), (c) — (ii), (d) — (iv)



20819166375, (@ — (i), (b) = (iv), (c) — (i), (d) — (iii)

70819166376. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :
Options :

70819166377, £+ and B only

70819166378, ‘* and C only

70819166379, ‘*and D only

20819166380, ‘» Band Conly

Question Number : 35 Question Id : 70819120408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2300 zafs.aa; Towohamod o YR Tewd ARBOINT.

A, QuToD F0HNY FoIRTOTIW, VPATLD G0 BOBT, YLTAILNA[A.
B. Re0F mREIoh QmRIETN0T POT K0T, I0IRORIW.

i m:mq NedE DOHOIWNH Wothahod ;U0 HoT DHOYT Vo a-‘aaa'-*.sdﬁd.
D. 2608 A7iZH o0 nod0d BeNT.

TOCIRT YUBTID, 39NT oYY SOAD.



Options :

70819166377, A ™0 Bawng

70819166378, <2 ™0, C BRI

70819166379, 0% D &2

70819166380, B % €502

Question Number : 36 Question Id : 70819120409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO, + H,O+B — NH,HCO,
NH,HCO, + NaCl — NH,Cl +C

Options :

A-H,O ; B-0,; C—Nay,(O,

70819166381.

70819166382, ‘1120 7 B0, ; C~NaHCO,

70819166383.

70819166384, G & S

Question Number : 36 Question Id : 70819120409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



NS I2eBTRTY A, B3y C v, 0@ W R0,
NH, + A + CO, — (NH,),CO,

(NH,),CO, + H,0 +B — NH,HCO,

NH,HCO, + NaCl — NH,Cl +C

Options :

70819166381, A H20 ; B~ 0y C~NayCO;

20819166382, + 120 s B~ 0, ; €~ NaHCO,

70819166383, ¥ SR a RS o= Nt

70819166384, — = g

Question Number : 37 Question Id : 70819120410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options:
70819166385, ’PO

70819166386. b

70819166387, | P39

PbSO,
70819166388.

Question Number : 37 Question Id : 70819120410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

SptalewwvewlVo-Aolelalevnidelen Aoisi:% AL &m%ﬁ?ﬁﬁbo@? SsdeviolyjEnt el
[ ACH AOND WL00D oW Fonemend. ;accu,,i Aody _

Options :
70819166385, 'PO

70819166386, | PO

70819166387, | P304

PbSO,
70819166388.

Question Number : 38 Question Id : 70819120411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MDZ ?
[M is lanthanoid metal]

Options :

70819166389, Nd

70819166390. OV

70819166391, LT

70819166392, YD

Question Number : 38 Question Id : 70819120411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819166389, Nd

70819166390, Y

70819166391, LT

70819166392, Yb

Question Number : 39 Question Id : 70819120412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :
Options:

70819166393 protects us from the UV radiation

70819166394 protects us from the X-ray radiation

generates photochemical smog
70819166395.

protects us from greenhouse effect
70819166396.

Question Number : 39 Question Id : 70819120412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TTNRFTOT LadneT's TASI0LN ¢

Options :



70819166394, OaPT AEDENEOLY DaNmy, DIRIE,

20819166395, DLETTODT TRTFITVSW, BEHNBALTDIT.

DATITG Tomoahlord JF:, TERT)TD.
70819166396. Ll e

Question Number : 40 Question Id : 70819120413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I: A mixture of chloroform and aniline can be separated by simple distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166397, Both Statement | and Statement Il are true

70819166398. Both Statement I and Statement Il are false

70819166399 Statement 1 is true but Statement 1l is false

20819166400. Statement 1 is [alse but Statement 11 is lrue

Question Number : 40 Question Id : 70819120413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



391 QU@ a-'ffs’»a’ri@dsi:i Reqn.
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Options :

El,

e — 11 ©ooimAEs.

£l

70819166397, =98 — 102

70819166398, 2¢¥E — 1303 Beed - 137N,

20819166399 Zreod - 1500 u0d Zeed —uoa—&ﬁd.

20819166400 Deed - l@@uﬁcﬁ =00 Zeed - 11 D0oiRAL.

Question Number : 41 Question Id : 70819120414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819166401 Carius tube is used in the estimation of sulphur in an organic compound.

70819166402. Carius method is used for the estimation of nitrogen in an organic compound.

70819166403 Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

Phosphoric acid produced on oxidation of phosphorus present in an organic compound

20819166404, is precipitated as Mg,P,0- by adding magnesia mixture.

Question Number : 41 Question Id : 70819120414 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FCNT olmz Tegdoln 3TN,

Options :
FeO0DT WRYIHo®, METobLE HooinITIoRN LT, J@Eﬁ& eZodrehm=m.
70819166401. = - ™ & &
20819166402, gedDobA qr*'sam aoh® Nomﬁm@m 'mrm'i';, ﬁaﬁ TOTED oS peNZETY
# i "\ - -_\- I ' LAY ', ) F ) "i?': IF-'\E _."? _r;_‘_‘-_;_‘.
70819166403, “O0F WERIS®, @ THFONT FoOWIRYD & HneeT, SImoTen wuTmodeeNTIF®
ToRo® Noo::.:am@w NGNEL, J“UB FATIN QLOLRMS Mmejf !‘:‘113 m.ﬁ &od
SN3RR, XedA M PO, eﬁ "‘Eff *:r*n, J[av]
70819166404, “DIETR, [eOA Mg,P,0, SN T )

Question Number : 42 Question Id : 70819120415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the given reaction :

IT"II=CIIBr 1. NaNH, "

CH, 2. Red hot iron tube, 873 K (major product)

What is ‘A" ?
Options :
(|2H= CH—NH,

-

CH,
70819166405.

CH,CH,CH,NH,
70819166406, L

70819166407. :



H,C CH,

CH,
70819166408. :

Question Number : 42 Question Id : 70819120415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Betiths gododg :
CH = CHBr 1. NaNH,
| _ _ - A
CH, 2. 30T IR BA¥E, 873K (IunD u3d)
ToMmDT AT 9
Options :
(|:H=CH—NH2
CH,
70819166405.

70819166406,  ° 2

70819166407. :

H,C CH,

CH,
70819166408. :

Question Number : 43 Question Id : 70819120416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Ell'z , "'.h’
TR T 1 '} i
UV light (major product)
monobrominated

CN

What is "A’?

Options :
H,C Hq

708191664009.

CH,CHjy
70819166410.

\CI I/

f "CN
70819166411.
CH,CH;

70819166412.

Question Number : 43 Question Id : 70819120416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
&R EE, o= %ﬁcﬁﬂ

CH,CH,
BI‘Z
UV 3T

(A)

CN {m«?mm Ma itel]

ToMTT Ao 9

Options :
H-,CHj4

oC.

CH,CH,
i “CN

CH,4

708191664009.

70819166410.
Br
\CI I/
f *CN

CH,CH;,

goul

Question Number : 44 Question Id : 70819120417 Question Type : MCQ Option Shuffling : Yes

70819166411.

70819166412.

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
| Hydrolysis B
ATIK -
e (C4HgO)

A
(C4HgCl5)

B reacts with H}-‘drox}fl amine but does not give Tollen's test. Idemif}-' A and B.

Options :
70819166413. 1,1-Dichlorobutane and Butanal

70819166414. 2,2-Dichlorobutane and Butanal
70819166415. 1,1-Dichlorobutane and 2-Butanone

2,2-Di : 9.
70819166416. 2,2-Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
223 BR0RWARET B WRNT 24T
Options:

S = e ey s ES m—tny ey YT sl
70819166413, L1-3E350RRLEIT & LRI

2 2.3 3netneln ks ThE) nRbisoe
70819166414, 2B BROLURET B WA

1,13, 30c00c0R30T D3 2-0R5R0T
70819166415. - S = = e

223 3pe0Rcuniied BB, WA 24T

70819166416.

Question Number : 45 Question Id : 70819120418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Identify the major products A and B respectively in the following reactions of phenol :

OH
_‘[ij CHCl;, NaOH Br, in CS, @
e
(i) HO* 73K
Options :
OH OH
Br CHO
and
70819166417.
OH OH
Iz:)j and @
70819166418, BT CHO
Br
and
70819166419. CHO
OH OH
CHO
and
70819166420. BT

Question Number : 45 Question Id : 70819120418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

89N LR SCRNYY eUotRDE T YREEmN YWSSmE A Briva) 50mi@0.

OH
() CHCl NaOH Bry in CS, @
‘..
(i) H30 3 273K
Options :
OH OH
Br CHO
and
70819166417.
OH OH
Iz:i)j and @
70819166418, BT CHO
Br
and
70819166419. CHO
OH OH
CHO
and
70819166420. BT

Question Number : 46 Question Id : 70819120419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding,
Statement 1l :  o-Nitrophenol has high melting due to hydrogen bonding,

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166421. Both Statement I and Statement 1l are true

70819166422, Both Statement I and Statement 1l are false

70819166423 Statement 1 is true but Statement 11l is false

70819166424, Statement 1 is false but Statement 1l is true

Question Number : 46 Question Id : 70819120419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
397 QOB TBewdnvR, VAT,
Revd- 1 ©mROZ0T BEAT WOFH RORREN 0-J1HRQTT’ LON TS FroLS.
Beod - II: BERET WOPNTMN o-FWRtdme’ YQT TRd LoTTH, BL0OT.
S0edT Fevdnva, M, FciRE Teododd, 9T LoRAvY S00.
Options :
Fewd - Isvad Eewd — 11 0oIRNE.

70819166421. =
spiod — T by aeod — AN
70819166422 @eed — 1o 0 Tewd - 113 By

70819166423, '

70819166424, =+~ i



Question Number : 47 Question Id : 70819120420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :
CH,CH,CH,NHCH,

70819166425.

H
CH.CH,CH-N — CH,CH
70819166426. gt 2.3

NH —CH,CH,CHj
70819166427, :

CH,CH,NH,
70819166428. - <+ Z

Question Number : 47 Question Id : 70819120420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2000 WD, HOBCT AR %,gfa;ca*‘ M3 B8FA ﬁg@fﬁ m:rmg wOedemn xo&j‘:immi

] =Y » g2 i & 4 ._*—"._ 3 Vol : o
BARPM. & sWIW, WPL° 1QCRED, LRARTT 00N LYTRA SIRORWTITNG.
baza*‘a 2003 dedaodn :

Options:

CH,CH,CH,NHCH,
70819166425. 2 :

H
70819166426, aCH2CHN ~CHCH,

70819166427.



: . NH —CH,CH,CHj,

CH;CH,NH,
70819166428. L e

Question Number : 48 Question Id : 70819120421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprene is :

Options :
—{—CI—IECH:CI—I—CHQ—CHE CH ]n
70819166429. CN
Ll“l
L cH, C—(H—CHQA}F
70819166430.
%HNH “/Nﬁh ,,NHCHHE
KHHHKN
NH
70819166431, |
«PCHZ CH-|
In
70819166432. —

Question Number : 48 Question Id : 70819120421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

O0RCLT S TWROIW :

Options :

«{»CI—IECH:CI—I—CHQ—CHE TH ]n
70819166429. CN
riT“l

[ CH, C—{TH—LTH2+H
70819166430.
% HN"‘H N__H e NHCHE +
Y )
x'\-uh %N
NH
70819166431, |
]
CH,——CH—
70819166432. =

Question Number : 49 Question Id : 70819120422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819166433, Vitamin B

T3t . i
70819166434. Vitamin C

TR
70819166435. Vitamin E



T1ks R -
70819166436. Vitamin K

Question Number : 49 Question Id : 70819120422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0% TIMADY LFYONBRTEL, FTNT 0INT LENT ATODLTVOCIRNT ?
Options :

70819166433, wielT* B

70819166434, °

70819166435, =

70819166436, XN T K

Question Number : 50 Question Id : 70819120423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HESD__I, gas X is evolved which turns KgCrZD?
paper acidified with dil. H,50; to a green compound Y. X and Y respectively are :

Options:
X=50,, Y=Cr.(SO
70819166437. 3 2(504)s

70819166438, 202 Y =Cr0;

70819166439. ) i

70819166440.



X=50,, Y=Cr,(SO,)s

Question Number : 50 Question Id : 70819120423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LOm AooINTTW, WACIRT DwFe Hy)S0,8R3 A0Amn X 908 Q@nEcinmy.
20 KCn0, noam®, mwre HS0, 83009, SATOwRE A00ME Y WERmm.
B X3 YR

24

Options :
X=580,, Y=Cr, (S0,
70819166437. g 2(304)3
70819166438, >0z Y= C1a0;
X=503, Y=Cr,0,
70819166439. : L
X=50,, Y =Cr,(50,);3
70819166440. K iz :
Chemistry Section B
SectionId: 708191901
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes

Sub-Section Number : 1



Sub-Section Id : 7081911181

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120424 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 > 10 3ig
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819120424 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

50000.020 10~ chQod nshmems wodnd mosdodw

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120425 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(dZY b

A certain gas obeys P(V_, —b) =RT. The value of ﬁ is —. Thevalueofxis
\dl’ /T

m

(Integer answer) (Z : compressibility factor)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120425 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(Z) . . _xb . .
=| Em’%@:%&ﬁa TMEO

2,0 298 ¥avy P(V,,—b)=RTods), edzamb. D
b = \ 0 T

m

3 :ﬁg@ e (wOT TRERFOR) (Z: HOBREEZ0T)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120426 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H?=80 K] mol~!) the entropy change A S® depends on the temperature T(in K) as
AS59=2T (] K~ 'mol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819120426 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A+B=C+Daow TomodRE §050D9, ASP=2T (K 'mol~)T IR0 otigte B3R
AS®, e TKIQ) o sded wavowdoinna. AHO=80k]mol 1983, & Heds dob
Aobo Feogmernm TR eoFE K (Fwemrotdy)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120427 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of SDE{ sat 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The

g ) IR el z
non-volatile aofute produced is dissolved in 36 g of water. The lowering of vapour pressure

f &
]

of solution (assuming the solution is dilute) ([(”20}:24 mm of Hg ] is xx10 "2 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 54 Question Id : 70819120427 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

298 K& 1atm2.3R3Y 224:09¢ S0, (g) &, 100 0S¢ 0.1 M NaOH T2itody) Todaencin®.

DTSCOBYT TRT $030ITN 36MRT A0TQ DOEIRAWHD. T[T DWFODOD

FRRA, JPEOINT TOREOT TR, z@iﬁ@ 1 %107 2 mm of Hg oo x5 9000
(VRFFOID v3T) (3T : Pﬂ,j{)} =24 mm of Hg]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120428 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, ) = A( )1 ZB{g is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole and the equilibrium pressure was 1.9 atm.
The value of Kp is xx 1072 The value of xis __ . (Integer answer)

[R=0.08206 dm?atm K~ 1 mol~1]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120428 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



ABypy = Ay + 2B, w0 Fedod ©OIF CRoNY doboRd, 27°CEY 25 T
RIIY SEACANT. AB, T TROOPE TRRee 1 Jwee’.  AEReoT wIFF 1.9 atm,
Tmad K, IPOR) rx107% x 3 dSodo . (Semero8 ev3T)

[ : R=0.08206 dm? atm K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120429 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the [ oﬂowing reaction

MnOjy +8H™* +5¢~— Mn*24 4H,0, E’=151V.

The quantity of electricity required in Faraday to reduce five moles of MnQy is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120429 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

MnO, ™ 4 8H* +5 — Mn*24 4H,0, E°=151 V,
e g:&mmi Tonieda, am dee* MnO, Ei:% TFAF A BNZLDLT AW TRweg
. (TRFRFOZT  $VZT)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120430 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol~!. If energy change
AE during the reaction is — 20 k], then the activation energy for the reverse reaction in k] is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819120430 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
2,00 WS dodbodn X =Y, 30 kf mol ! gap) Tesomss (wdees) F3ohad, BR00d.

gobong 3dod wmweRse AE o - 20 k] €00, &oa’i:‘.:af.l sodok mwzonziody K 39

. (SemoFos &vE0)
=L

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120431 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbentat 1 atm and 300K inLis

[R=0.0821 L atm K~! mol -]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120431 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

312 Moarasd wind 12 My mUasr decmd ded sHInemmoinnd. 300 Kaha
1 atm 0.3@BQ TS M ©QIeeREr wed wdecagmnd winy mIy Je I

[R=0.0821 L atm K ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120432 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120432 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
& 8o YoRTTS®, TR Bed Aeormen FoRoera ww3dodd ‘Cr 8 wogHFs

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120433 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [Mn,(CO),lis .
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819120433 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Mn,(CO),,] AeBamorba CO Ompo@ iy HOS5,000

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 708191902
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911182
Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 70819120434 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S 0

K
If a and p are perpendicular, then a xla x la »

(3

T o bJH is equal to :

Options :

P’

70819166451.

1

‘—}—>

al b

I [

70819166452,

e
70819166453.|a‘ b

— =

70819166454, @ * b

Question Number : 61 Question Id : 70819120434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a B b cowmnd eud a x |a x (a x (a x b)) azg zzmw -
Options :
70819166451, U

i ‘a‘ b

70819166452, ©

:
70819166453.|a‘ b

70819166454, @ * b



Question Number : 62 Question Id : 70819120435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7, 5,5), (1, A, 7) and (2A, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options:

70819166455, °
70819166456,

70819166457.

70819166458.

Question Number : 62 Question Id : 70819120435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

womd @¢¥ (1, 5, 35), (7, 5,5), (1, A, 7) D) (2\, 1, 2) Q3ADI0RTT, ©1 "OPIACR A
SR3 :

Options :
39
70819166455, °
39
70819166456, 2

70819166457.



L.n|ﬂ::

44

70819166458, °

Question Number : 63 Question Id : 70819120436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2Zx+y=6is a :

Options :

70819166459, Right angled triangle

70819166460. Isosceles ’r:rianglr:

70819166461, quilateral triangle

70819166462. MNone of the above

Question Number : 63 Question Id : 70819120436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

Oed x—y=0, x+2y=3 0 2x+y=6T0RTO TEINW JeTT0N

Options :

®©0LEREN S0
70819166459, ~OXIRE S

'l‘a\."\ =-)—x_uq—."x B el
70819166460, 0 LT SERE

o g i,
AENTOT SN

70819166461.



70819166462, =0¢OT CIRFTY

Question Number : 64 Question Id : 70819120437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+Ta+2) a+2 1
The valueof |(a + 2)(a+3) a+3 1|is:
(a+3)(a+4) a+4 1
Options :
70819166463, @ T D(@+2)(@+3)
70819166464, (@ T2)(@+3)(a+4)

70819166465, — 2

70819166466. U

Question Number : 64 Question Id : 70819120437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)a+2) a+2 1

(a+2)a+3) a+3 1 a5d BSain :
(a+3)at+4) atd 1

Options:

70819166463, @ T D@ +2)(@+3)

70819166464, (@1 2)(@+3)(a+4)



70819166465, — 2

70819166466, U

Question Number : 65 Question Id : 70819120438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

2
\2
20% in 2 hours. If the population of bacteria is 2000 after 1 hours, then [ is
l0g. [¢) Toge2)
equal to:
Options :

70819166467, 2

e

70819166468.

o ]

708191664609.

70819166470, 16

Question Number : 65 Question Id : 70819120438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WO WYoINIMT Heamoradny B0, TRREF) YRTITIRIS $ToPD AmeRTY t=0.
2eeormag 023,000 100037 : QUE rolingg iemora KO0 20% zﬂcﬂj BT, YT

2
’x NOEI0JY) WO8T Lot FJC'SJ'_,I 2000 8T [I—J ”GD'%}
I.Og,__,lrg] b \ OBH'J
P

Options :



70819166467, 2
70819166468, 4
70819166469, 8

70819166470, 16

Question Number : 66 Question Id : 70819120439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
C}\\\;;ii:::;73 ¥

Q
Options :

24 ﬁ

I

70819166471
70819166472 2443

70819166473, 2682

k-
5]

70819166474, 26V

Question Number : 66 Question Id : 70819120439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

$0R SoE FFRY; vombhag OA =1348; 0B=13 Pus R PQLOBRS. wdd
3ae3T U POBR) (S50 PHIHYY) -

1’;1’

o
Q
e

Options:

70819166471, 24v2

70819166472, 243

70819166473, 26v2

I
2‘\.
3]

70819166474.

Question Number : 67 Question Id : 70819120440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ﬁﬂnf% +h) nmf%—ll1ﬁ
The value of lim 2 il = ¥ % ig:
h—0 l ﬁh{\r 3cos h — sin h) ]

Options:

| R

70819166475.

'..-.rIA:-'

70819166476.

70819166477.



.

V3

3
70819166478, 4

Question Number : 67 Question Id : 70819120440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

|ﬁ_~.m[% th rml:% thl

lim 24 — > 9ud wSodw -
h—0 | Bh(3cosh —sinh)
Options :
i
70819166475,
70819166476.
2

70819166477, V3

3
70819166478, 4

Question Number : 68 Question Id : 70819120441 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4

The maximum slope of the curve y = —x* — 5x% + 18x? ~ 19x occurs at the point :

b2 | =

Options:

70819166479, (0. 0)



)
70819166480, (& 2)

f O
3, o}
70819166481, - </

70819166482, (2 9)

Question Number : 68 Question Id : 70819120441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
90 1103 TOD Y y = —x* - 56 + 187 ~ 19¢ BN IR LOTHA HORRIS 9

2

Options :
70819166479, (0. 0)

257
70819166480. (2 2)

% o
3,;}|
70819166481. < J

70819166482, (2 9)

Question Number : 69 Question Id : 70819120442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= COS_': dx is:
1 +3

iy}

Options :



e

70819166483.

70819166484, 2T

o

70819166485, =

70819166486, =™

Question Number : 69 Question Id : 70819120442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

’

L
'4

oy

QO BE030 -

o3

J= CDS_J.: L‘]_l'
1+ 3F

T
.-ﬁ.'

Options :

S

70819166483.

70819166484, 2T

L
70819166485, *

70819166486, ™

Question Number : 70 Question Id : 70819120443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819166487. 42

70819166488. -

=]
=l

70819166489.

i &
-2

70819166490.

Question Number : 70 Question Id : 70819120443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1, 2303 3 9oBnvd, BRF WEABROR 105 ADTMT W LOTNY TRWRF OINY
X050 :

Options :

70819166487. 42

70819166488. -

b |
=1

708191664809.

i o
-2

70819166490.

Question Number : 71 Question Id : 70819120444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1A\
. . S . 1
The maximum value of the term mdependont of 't in the expansion of |ty 4

\ /
where xe (0, 1) is :

Options :
10!

2
70819166491, V3(5)

2.10!

XA
70819166492, V33!

70819166493.

| 2
70819166494, °')

Question Number : 71 Question Id : 70819120444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1,
‘Y HOT FIOTTNDS TET nog IR, | F 4

b s
Options :
10!

2
70819166491, V3(5)

2.10!

XA
70819166492, V33!

70819166493. *



10!

2
70819166494, >')

Question Number : 72 Question Id : 70819120445 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set:

Options :

5= -r 2"‘ '7=4:
70819166495, ° (& Y) [ Xy =4

=X o
70819166496, >~ WX ¥) [ x=+y°

=y Fis
70819166497, ° & ¥) [ x=+y==1}

70819166498, °= (¥ ¥) | ¥ +17= 2}

Question Number : 72 Question Id : 70819120445 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R={(P, Q)| P =& Q b oy RomRA0T %00 HRIDYE %o Bowogwwn (1, —1)

0 Aund JINFD N

Options:

70819166495, O (v V) [ =4

= {(x 2 42 ="2
20819166496, °— WX ¥) | x=+y =2

ISR T
70819166497, ° & ¥) [ x=+y==1}



70819166498, 5= (0 ¥) [ ¥ +y7=12]

Question Number : 73 Question Id : 70819120446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819166499, !

70819166500, 4

70819166501, ©

70819166502, 12

Question Number : 73 Question Id : 70819120446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A3 zedrod eodny S0P 18NT0 Fpmoros IDRTONY T 20 B S0N H3T FODY
©03T IR I Boges, B0, :

Options :

70819166499, 1
70819166500, 4
70819166501

70819166502. ~~



Question Number : 74 Question Id : 70819120447 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :
f-fy)| = |[&@-y)*, ¥ (v y) e R
If f(0) = 1, then :
Options :

70819166503, /() >0 ¥ x= R

20819166504, /(¥ <0, 7x = R

70819166505, /() =0, vx <= R

20819166506, J ®) can take any value in R

Question Number : 74 Question Id : 70819120447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fIRS w%ai{ SNZY I WD
8 fx)—fy) ]| = [(x —],rjz V(. yeR
s fl0) = 1, dPFoPIW), TOITT, :
Options :

70819166503, /() > 0. 7xe R

70819166504, /) <0 Fx =R

70819166505, /@) =0, vxe R

70819166506.



f(x),R & olem)cetde Hdodad, f(x) Snchiegnam

Question Number : 75 Question Id : 70819120448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :

8
70819166507, 2

1
70819166508, 2

708191665009.

15
70819166510, 2"

Question Number : 75 Question Id : 70819120448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0T 0 TR, ANOT WO WIMTWET 7 IENYD, TEOWT FoFTALI0M,

o

9 UMY, TEOWS FOPBIODIN FTTOT, 2 ITNYR, TEOWT AOFTAODLIOW :

Options :
15

8
70819166507, 2

1
70819166508, 2



15
o1
70819166509, <

15
14
70819166510. 2

Question Number : 76 Question Id : 70819120449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e | - -1 i \

- : ¢ A ) TC
If e o i T Sl :0 < x <1, then the value of CDS| is :

a b C \a+b)
Options:
70819166511, 1 ¥~
1 yj

70819166512, VY

70819166513,

70819166514.

Question Number : 76 Question Id : 70819120449 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

me

. 1 -1 -1 /
sm X cos X tan "1 i
- ,0<x<1, mmmdcos | 3

b C

Correct Marks : 4 Wrong Marks : 1

Options:



-

70819166511, 1 ¥~

-

ly‘
70819166512. VY

70819166513.

2y
70819166514.

Question Number : 77 Question Id : 70819120450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: 2
In an increasing geometric series, the sum of the second and the sixth term is % and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to :

Options :

]
=

70819166515.

Lo

70819166516, -0

70819166517. -

(]

70819166518, 32

Question Number : 77 Question Id : 70819120450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



v el YT Ty TR
RodosRE meoss Jerdodd atddod DI sodod wZHod Be3 = DB TetFod

DA WETL YBOHOD wg;s;{ri@;: 258N30 Temedo 43¢, 63 ) 8¢ ITNY DT ‘&dﬁ;
ABRITNTDIT :

Options :

]
o

70819166515.

L

70819166516, 20

70819166517.

L3

70819166518, 39

Question Number : 78 Question Id : 70819120451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—— . 2 7 12 17 22 )
The sum of the infinite series 1+ —+ — + =+ — + = +..... is equal to :
3 32 35 34 3':!

Options :

9
70819166519, 4

11
70819166520. 4

13

70819166521, 4

15
70819166522, 4

Question Number : 78 Question Id : 70819120451 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% wFo (dndchen) Aotfecod Sy : 1 = I ?—j | % | 1_Z ' j—f b
= = & O B 2 0
Options :
2
70819166519. %
pil

70819166520, 4

13

70819166521. 4

15
70819166522, 4

Question Number : 79 Question Id : 70819120452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the three planes

P; : 3x+15y+21z=9,

P'2 :x—3y—z=>5, and

Py : 2x+10y +14z=5
Then, which one of the following is true ?
Options :

20819166523, F1 and P are parallel

70819166524, L1 and P5 are parallel.

70819166525, 12 T2 and Py all are parallel.

20819166526, L2 and P3 are parallel.



Question Number : 79 Question Id : 70819120452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SR ARIONYR, TONEAD,
P, : 'h-l—lSJr-I-? =
P, : x—3y—2z=5, 13:‘
Py : 2x+ 10y +14z=5
B WNIYNYY WO VHENT :

Options :

P, @03 P, N I2R03ONTIND
70819166523, 1 i e Oi

70819166524. P, 303 P, 1ish ASRoSTRTRNES

20819166525, P1r P2 3 Py 203 I@R030MeaNES

P, &30 P; N A@mo3Tnyone
70819166526. = = -

Question Number : 80 Question Id : 70819120453 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n
The value of », | e* Ml dx, where [x] is the greatest integer < x, is :

n=1 n—1
Options :

70819166527, 100(1—¢)

70819166528, 100(1+e)

70819166529, 100¢



70819166530, 100(e —1)

Question Number : 80 Question Id : 70819120453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n

Y [ e tldx, [x]oomd nog = x=u8 Bdod :
n=1 n-1

Options :

70819166527, 100(1—¢)

70819166528, 100(1+e)

70819166529, 100¢

70819166530, 100(e —1)

Mathematics Section B

Section Id : 708191903
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 7081911183

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120454 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

. : 2 . a|
of curves given by ¥~ =a| x =
\ =)

,a>0is__ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120454 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e D TT IRRT

e

NEBD Fa’ﬁ.‘%&ﬂﬂ? DENOWDT), DSIOAD YRFOT ReDEFORD
e -3'1‘ e

f \
o Mt Ja
wIN %R0 y =a‘ x4 T

N g )

[ Qs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120455 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120455 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ravedee ¥~ 27+ 2r—1=0 Ay, (LILRT) Deony 1623500 e
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120456 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—-2|1is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120456 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
y=||x—1|-2| Seln¥sineneod Qaersy .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120457 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. o

If y=y(x) is the solution of the equation e“"lfcnsya k™Y

cosx = cosx, y(0)=0; then

l () \ﬁ () 1 (=)
14 y|kgj | ?y|;J | TEML‘ is equal to __
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120457 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e“”*’rcosyd—j te™™ cosx = cosx, y(0)=0, y=y(x) FNCITHT TOTITTNG ST
2

f o) ﬁ { 1 (oY% . . _
14 H{.EJ | ”‘?y[ﬂ | ﬁy[ﬂ AP

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120458 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819120458 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
log,(x — 1) =log,(x — 3) MReITERF, ATD TOTIONE KO,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

o B



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120459 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120459 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

k'S wame, SPonY Bodoln Ranessns) siny +4cosx=k +1 TOTTHIRN, RO ke

RQohed. )
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120460 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

AR A
| T 4 isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120460 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(A 2, 1) 2sd3onds Rome) (4, -2, 2) WomaT WRVT Tem RINID. (-2, -21,29)
@8 (-1, —16, 23) WOWM¥ Y, AeOXT Tedn ::3@3‘4’; LoWINT T,
EREE W
—| -— N AR@ENa.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120461 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
m

The value of the integral _[ gin2x |dx is
1]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120461 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

™

STAtAnE~ Istn?.x dr 0 &3 _ .
o

0

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120462 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f dﬁ{mszx] = (V3 = 1)cosx + 1, the number of solutions of the given equation when

0, —
i

1 R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 89 Question Id : 70819120462 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

V3(cos® 1) = (VB = 1)cosx + 1533 BRUTOE RETTRD TOTIONYS A0L, X &

u,f‘
L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819120463 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(30}
| =n-2™, then
29)

~(30) \ (30)
Letm,n<s Nand ged (2, n)=1. If ."’r[l‘ ‘ I 29‘ _ ‘ . 2 ‘ + 1
o) “l1) 28)

N

ntmisequalto .

( ‘n)
‘kHum‘ L

o,

k!
=an‘
4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819120463 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
(m, n) e N3 ged (2, n)=1. 83T,

| (30) (%) (30)
0 y)+ 2 7) -t

\
| -1[:}9 | =n-2" T030 n+mni AnRITTADHD
Mol

-

Response Type : Numeric

2]

1 ]
——
- ol = |
—

1]
=

)
nd
——

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



